


Here some Conjunction is also used instead of name of 

candidate. 

In that case:

∗ AND / BUT /, / IS – first person

∗WHO/WHOM/WHOSE/WHICH – second person



Study the given information carefully and 
answer the questions that follow 
A , B , C , D , E , F and G are sitting on a wall 
and all of them are facing east . 
C is on the immediate right of D. 
B is at an extreme end and has E as his 

neighbour . 
G is between E and F. 
D is sitting third from the south end . 
Who is sitting to the immediate right of E ?
दी गई जानकारी का ध्यानपूर्वक अध्ययन करें और नीचे 
ददए गए प्रश्नों के उत्तर दें

A , B , C , D , E , F और G एक दीर्ार पर बैठे हैं और उन
सभी का मुख पूर्व की ओर है।

C, D के ठीक दायें बैठा है।
B अंतिम छोर पर है और उसका पडोसी E है।
G, E और F के बीच में है।
D, दक्षिण छोर से िीसरे स्थान पर बैठा है।
E के ठीक दायें कौन बैठा है?



8 Person –John, Imran, Hina, Golu, Ekta, Divya, Babita and Alex sits in a circle

table and facing towards the centre. There are three male and five female . no two

males are immediate neighbour of each other. * Golu is a male and Babita is not

an immediate neighbour of Ekta. Imran sits second right of John . Divya sits

second right of her husband Alex. Alex is not the immediate neighbour of Ekta’s

wife. Ekta sits second right of his wife. Hina sits third right of Ekta.

8 व्यक्ति-जॉन, इमरान, दहना, गोल,ू एकिा, ददव्या, बबीिाऔर एलेतस एक र्तृ्ताकार मेज पर बैठे हैं और उनका
मुख कें द्र कीओर है। इनमें िीन पुरुषऔर पांच मदहला हैं। कोई भी दो पुरुष एक दसूरे के तनकतिम पडोसी नहीं हैं. * 
गोलू एक पुरुष हैऔर बबीिा एकिा की तनकतिम पडोसी नहीं है। इमरान, जॉन के दायें से दसूरे स्थान पर बैठा है।
ददव्या अपने पति एलेतस के दायें से दसूरे स्थान पर बैठी है। एलेतस एकिा की पत्नी का तनकतिम पडोसी नहीं है. 
एकिा अपनी पत्नी के दायें से दसूरे स्थान पर बैठी है। दहना एकिा के दायें से िीसरे स्थान पर बैठी है।



11 boxes A,B,C,D,E,F,G,H,I,J,K are kept one above the other. Box G 

is kept at fifth position from the top. 2 boxes are kept between G 

and H .box D is kept just above H . there are as many boxes above 

D as below B. 5 boxes are kept between box F and box K, which is 

kept as one of the positions below box G. Box A is kept at one of 

the positions above F . only one box is kept between box G and box 

C .box I is kept above box E but not just above. Box E is not kept 

immediately above or immediately below C. 

11 डिब्बेA,B,C,D,E,F,G,H,I,J,K एक के ऊपर एक रखे गए हैं। डिब्बाG को ऊपर से पाांचवें स्थान पर रखा गया है।G 
और H के बीच 2 डिब्बे रखे गए हैं। डिब्बा D, H के ठीक ऊपर रखा गया है। D के ऊपर उतने ही डिब्बे हैं जितने B के
नीचे हैं। डिब्बा F और डिब्बा K के बीच में 5 डिब्बे रखे गए हैं, िो डिब्बाG के नीचे एक स्थान पर रखा है। डिब्बाA को
F के ऊपर ककसी एक स्थान पर रखा गया है। डिब्बाG और डिब्बाC के बीच केवल एक डिब्बा रखा गया है। डिब्बा I 
डिब्बा E के ऊपर रखा गया है लेककन ठीक ऊपर नहीां। डिब्बा E, C के ठीक ऊपर या ठीक नीचे नहीां रखा गया है।



11 boxes A,B,C,D,E,F,G,H,I,J,K 

are kept one above the other. 

Box G is kept at fifth position 

from the top. 2 boxes are kept 

between G and H .box D is 

kept just above H . there are 

as many boxes above D as 

below B. 5 boxes are kept 

between box F and box K, 

which is kept as one of the 

positions below box G. Box A 

is kept at one of the positions 

above F . only one box is kept 

between box G and box C 

.box I is kept above box E but 

not just above. Box E is not 

kept immediately above or 

immediately below C. 



Eight friends 6, 7, 8, 9, 11, 12, 13 and 14 are sitting around a square table in such a way 
that four of them sit at four corners of the square while four sit in the middle of each of 
the four sides . The ones who sit at the four corners face the center while those who sit in 
the middle of the sides face outside. 6 who faces the center sits third to the right of 12. 11 
who faces the center, is not an immediate neighbor of 12. Only 1 person sits between 12 
and 13. 9 sits second to right of 7. 7 faces the center. 8 is not an immediate neighbor of 6.
Who sits opposite to 12 ?
आठ ममत्र 6, 7, 8, 9, 11, 12, 13 और 14 एक वगााकार मेि के चारोंओर इस प्रकार बैठे हैं कक उनमें से चार
वगा के चारों कोनों पर बैठे हैं िबककचार चार भुिाओां में से प्रत्येक के मध्यमें बैठे हैं . चारों कोनों पर बैठने
वालों का मुखकें द्र कीओर है िबककभुिाओां के बीच में बैठने वालों का मुख बाहर कीओर है। 6 िो कें द्र की
ओर उन्मुख है वह 12 के दायें से तीसरे स्थान पर बैठा है। 11 िोकें द्र कीओर उन्मुख है, 12 का ननकटतम
पडोसी नहीां है। केवल 1 व्यजतत 12 और 13 के बीच बैठता है। 9 , 7 के दायें से दसूरे स्थान पर बैठता है। 7 का
मुखकें द्र कीओर है। 8, 6 का ननकटतमपिोसी नहीां है.
12 के ववपरीत कौन बैठा है?



In a General Store, 8 boxes - A, B, 

C, D, E, F, G and H are placed one 

above another but not necessarily 

in that order.  Number 1 is at the 

top, number 8 is at the bottom and 

others accordingly.

Box E is placed below box H. Box 

A is on number 7. Box F is not on 

number 5. Box B is on number 4. 

Either box D or Box C is on 

number 1. Box G is not on number 

3 and 5. Box F is not on number 2 

and 3. Box D is on number 8.



एकिनरल स्टोर में, 8 बॉतस - A, B, 
C, D, E, F, G और H एक दसूरे के
ऊपर रखे गए हैं लेककनिरूरी नहीां कक
इसी क्रममें हों। नांबर 1 सबसे ऊपर है, 
नांबर 8 सबसे नीचे हैऔर अन्य उसी
के अनुसार हैं।
बॉतस E को बॉतस H के नीचे रखा
गया है। बॉतसA 7 नांबर पर है। बॉतस
F 5 नांबर पर नहीां है। बॉतस B 4 नांबर
पर है। या तो बॉतस D या बॉतसC 
नांबर 1 पर है। बॉतसG नांबर 3 और 5 
पर नहीां है। बॉतस F नांबर 2 और 3 पर
नहीां है। बॉतस D नांबर 8 पर है।

In a General Store, 8 boxes - A, 

B, C, D, E, F, G and H are placed 

one above another but not 

necessarily in that order.  

Number 1 is at the top, number 

8 is at the bottom and others 

accordingly.

Box E is placed below box H. 

Box A is on number 7. Box F is 

not on number 5. Box B is on 

number 4. Either box D or Box 

C is on number 1. Box G is not 

on number 3 and 5. Box F is not 

on number 2 and 3. Box D is on 

number 8.


